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Multiple Choice
0 SEESENASE

Multiple Choice

00 S8 (SRAZ

#EE 1. The description of the definition of innovation should include which of the following?

["](a) new idea only

| (bjuseful invention

| A (Qinfluential invention

| 7 (d)practical creation

v

£EE2. Which of following are included in the innovation types of entrepreneurial act?

| 4 (a) source of supply

| (b) business model

| (c) mergers and divestments

[(d) none of above

v

Free response
A BEEEENASE

You have complered this assignment. Your final grade will be available when the assessments of your response are complete

-1 mEEE

HE

Your respanse has been submitted. You will receive your grade after all steps are complete and your response is fully sssessed

The question for this section

Please design 3 innovative solutions (for different segments) for increase product sales of "pizza” during lunch time [please selecta
nearby pizza restaurant as 3 imaginary target), based an job to be done theary.

Your respanse

1. Energy-producing roads
Rozds ar= ususlly recognized by many for their main purpose: a route that pedestrians and vehicles used for transportation and travel from
point Ao peint E.

However, for TNO (Netherlands Organis
(construction and infrastructure company

ion for Applied Scientific Research), Dyniqq (mabile equipment supplier), and Ooms Civiel

The road can also function a5 solar panels that provide electricity which could power street lights, residences, and even the vehicles that

usethem,

Because of this bold and daring vision, the world's first energy-generating bike lane was created

For the "SolaRoad Ki
much sunlight as ca

mventars, the upper surface of the rosd was the largest technological obstacle as it needed to be able to capture as
eivable while staying sturdy and damage-resistant.

& piece can build 10m? of SalsRoad, - 3 road that praduces sufficient electrichty to cover & ypical {5 yeariy electricity demands

{F 3% B4 & 3 &0
7 EREL
ARz 12 3R A B
RZZEHE
2 % R A E &
B AANETT




Al B

IWIIII
ik
XA
ba]]3
—+
\lm
/

o

1-1 BHEFMERENE: Vst

0 SaEREN S8

E
E
1
!4
_i

AHFIRRENE: CSViE

70 X, Y, =100, 200, 300

Tips: SEREE [123r] Liseaciiie, BT [continue) 1. SERESH.

strl, str2, str3 = 'apple’, 'banana’, 'orange’

PhET Flash Card

BFARANFXAEHRIENHE, EASSRSRACHESS

[1234567.89]

Selection Game
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Python 1.6 Print output (o ser right comas 1o resire
<> mainpy ==
oot = (9,000,001

1 M Tamaes.

2 r=3 el

3 PI-=3.14 i — [ln]nlele]y

4 i

5 circle_area = r*r*PI # please define th e

6 circle_perimeter = 2*r*PI # please defi

7 «Back | Step 21 of 38 'nv\--‘;
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= Working with python
Warking wh pythen Lang running python processes can be Inlermupted Run the
" Interrupt emecution (hofiey Cmd C7M () to stop ewecution
. © s tiae

Python Tutor Online Judge Google Colab
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